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For the pp case background function does not describe 5 < pt1 < 8

region well
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Need to find proper background function

- Same sign
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Same sign distribution(pp)

24<=y<24
TSI e |  Bke = (Erf(ep)/p)+)(pax+pa)
355— | | :Eséa
30E UL o T
%25?— U [ . 17 I
s B ,‘,,‘.‘ rY ]
S 20 Tt

—
o
|

a1
TTT T

(@)

5 51 52 53 54 55 56 57 58 59 6
M (GeV/c?)

- Due to poor statistics, all pt regions are integrated

- Statistics are not enough to convince fitting is proper or not
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Same sign distribution(PbPb)
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- Same background functions are applied to PbPb same sign
- Almost events are located in the 5 < pr < 8 region
For PbPb case around 6 GeV also fall down

Peaks from other B also not found in the same sign
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- New background function is tested with same sign

- pp same sign statistics was too poor to fitting

- PbPb same sign is not fit with the background function in
the high mass region

- MC skim is ready
- Not merged yet

- New background can be tested in the opposite sign
anyway
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back up
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Ntuple

- new ntuple with new skim is ready
- PbPb

JSON file: /afs/cern.ch/cms/CAF/CMSCOMM/COMM _DQM/certification/Collisions15/HI/

Cert 262548-263757 PromptReco_HICollisions15_JSON_MuonPhys_v2.txt

Global Tag: 75X_dataRun2 v12
Location: /xrootd/store/user/goni/160323 HIPromptReco(KISTI)

" PP

Location: /xrootd/store/user/goni/PromptReco/DoubleMu_Run2015E-PromptReco-
vl _Run_262081.262328 ONIASKIM_ 160116/DoubleMu/DoubleMu_Run2015E-PromptReco-
v1_Run_262081_262328 ONIASKIM_160116/160115_152651/0000(KISTI)

- MC

Hyunchul is working on(Current MC file is not available to obtain correct efficiency)
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http://cern.ch/cms/CAF/CMSCOMM/COMM_DQM/certification/Collisions15/HI/Cert_262548-263757_PromptReco_HICollisions15_JSON_MuonPhys_v2.txt

Fitting function

1. Fit MC with two Gaussian 2. Peak from Other B
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Non-Prompt shape

-+ 1. B*=J/p + n*(Double Gaussian)

. 2. Muti-body decay(Gaussian)
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MC check Reco Mass

8000

TFTTIUI'V]UUII]‘II[TIT"I'IIll'l

:
'Illl"llli]ll'llll['lll

6000

_III'IIY

lll]llllllllllllllllllllllllllllllllllllllllllll plllllllllllllllllllllllllllllllllllllllllllllllll

5 1 62 53 54 55 56 57 58 59 6 5 51 52 53 54 55 56 57 58 59 6

pthat30 pthat50

X

—

-
w

35000

30000

25000

20000

TVI1I‘I'II’ITII]U1Ill'lf]l]IIIIITIT1]1

15000

S & &8 8 3
ll'l ll‘llIl’l‘lllfl]lllfl1ll']l‘lll[ll‘l]'l

mqrsT

llllllllllllllllllllllllllllllllllljllllllllllll

51 52 53 54 55 56 57 58 59 6
mass mass

10(»0 sl b e b b s b boaaa s s
51 52 53 54 55 56 57 58 59 6

W
w




MC check Reco Mass(id=521)
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MC check Reco Pt
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MC check Reco Pt(id=521)
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MC check Reco Rapidity
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MC check Reco Rapidity(id=521
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MC check Reco Phi

1600

14000+~

T

o 12000

3000
10000

2500
8000
2000

6000

1500

1000 4000

500 2000

fFIl]1'TI]Il1']’TIIYI’IIII]YYTII' ‘l'['lll]"l‘]

|
‘llll"llf'lll'llilll'!ll

ljllllllllllllllllllllllllllll Al 111llllllllllllllllllllLlllllll AL

0.5 1 1.5 2 25 3 35 0.5 1 1.5 2 25 3 3.5
pthat30 pthat50

oO

oO

p
TT 77

20000 40000

15000 30000

10000 20000

]'l’tlITIITIUUTTIITTIIYYIIITIIIIIIIT

10000

)
8

lltl’lllilllllllllll[llllllllllllIV

lllllllllllllllllllllllllllllll L.

0.5 1 1.5 2 2.5 3 3.5

llllllllllllllllllllllll]llllll Al

0.5 1 1.5 2 2.5 3 3.5

o
SrrrrT
oO




MC check Reco Phi(id=521)
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MC check Gen Pt
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MC check Gen Pt(id=521)
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MC check Gen Rapidity(id=521)
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MC check Gen Phi
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MC check Gen Phi(id=521)
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